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2 34.98
5 36. 11
8 36. 77
7 36. 65

&I B R
0P 40.15
3 41.37
0P 48.12
1 37.83
2 39.97
5 43.78
4 41.77
0P 42.92

b= ] B

EIE
3 35.97
EIE
1 33.70
2 35. 81
EiE
0P 36. 68
4 36. 38




No. 21 %¥ 50m HHEF 2 A LR

EAfER
7 %8 & B B A 124%8 &EIE B
1. fig ER (E W ) 60 7 34.98 1. KNl BEsE (& E ) 50 4 34.29
2. X BF & ) 60 6 33.69 2. BF EE=E (1T ) 50 7 35.08
3. ILEAEF Ci:E=JN] ) 60 3 31.60 3. EE #H{EK (I & ) 50 2 33. 61
4. mikE FiT (I B ) 60 1 30. 60 4. — 4 =z (B & ) 50 OP 34.18
5. Xm@E # (B8 =K ) 60 2 31.54 5. tB#BFF (B #N ) 50 3 34.10
6. REEIL=F (B 1B ) 60 4 32.02 6. A FR (dtim& ) 50 1 32.89
1. TM =EF (F % ) 60 5 32.95 1. 88 ¥ (ZE)N| ) 50 5 34.33
8. BHEME=E (F % ) 60 8 37.06 8. Wil BAEE & ) 50 6 34. 61
8#i & B R R 1 348 &I B Rl
1. 88 &R) (& B ) 60 8 40. 69 1. TH =# (B & ) 50 1 33.45
2. BH#F = (B E ) 60 3 36. 67 2. KTFFER (B # ) 50 5 32.52
3. KR FxE (B & ) 55 1 34. 42 3. MiB #7F (5 B ) 50 £
4. HYH AF (= ) 55 2 35.59 4. £k E= B =E ) 50 3 31.48
5. (REHE T (E E ) 55 6 37.38 5. MEABEF € B ) 50 1 30. 37
6. BF H=x (5 B ) 60 5 37.08 6. B#E ME (1T ) 50 1 30. 37
1. ¥ foF &E N ) 60 4 37.03 1. B L= (B & ) 50 6 33.217
8. ZiF B B =E ) 60 i 38.17 8. MTEEF € ) 50 4 32.26
o#f &g B 1448 &g =35
1. EA & (e ) 55 6 32.96 1. 80 M*E (5 B ) 45 OP 1:11.58
2. B AhF (B & ) 55 b 32.88 2. KH H=E (F % ) 45 4 36. 74
3. BAR & (2 ) 55 4 31.89 3. HE B&F (tiEE ) 45 3 35. 80
4. BIR HF (® B ) 55 1 29.47 X&£% 4 BEEHRFE (X B ) 45 1 33.37
5. AR = (= #B ) 55 3 31.79 5. \EBRF (il ) 45 2 33. 60
6. =1E =i #H E ) 55 2 31.37 6. AL #BF (R = ) 45 5 38.08
1. IEHE&HF (B = ) 55 1 33. 81 1. B EHEF &E ) 45 6 42.05
8. MHA [EF (M ) 55 8 34. 86 8. EH T (R = ) 45 0P 40. 37

1 0% EIE B 154 &g =]
1. R BHE (B H ) 55 6 40. 91 1. KE &#E (B 1% ) 45 8 33.00
2. % Sz (B &E ) 55 0P 44. 81 2. WA HF (B E ) 45 7 32.16
3. KF FE# (dtisE ) 55 4 38. 54 3. M ME (=N ) 45 3 29. 63
4. KEEHEF (B 1§ ) 55 1 35.75 4. KK HL (5 B ) 45 1 29.33
5. = HTF (A W ) 55 3 37.68 5. Bl =M (5 B ) 45 2 29. 54
6. EHEHFE (=) ) 55 2 35.96 6. &)l EB (mE # ) 45 4 31.00
1. BN BE (B & ) 50 7 43.14 1. AARLTEE (B 1% ) 45 5 31.67
8. 2R Ex= & E ) 55 5 40. 38 8. BETETF (E = ) 45 6 32.04
1148 & B B el 164 b= ] B
1. Bl #& (5 B ) 50 6 39.37 1. #EHEF (B 1B ) 45 QP 35.03
2. KBHEF (B # ) 50 2 34. 21 2. XELBY (B 1% ) 45 OP 33.17
3. ER BF (A W ) 50 4 36.78 3. B EEE (Z # ) 40 3 29.18
4. HBiE B (X W/E~ES) 50 3 35.35 4. thiF BF (=) )y 40 1 27.92
5. K FiE (B & ) 50 1 34.00 5. 85 E=®E (=N ) 40 2 28.54
6. FH FFE (B = ) 50 5 37.23 6. BEMEY (# = ) 40 4 30. 32
1. EEWD S F (B 1§ ) 50 OP 36. 21 1. EHEET (F % ) 45 5 33.26
8. & H (B &E ) 50 OP 39. 01 8. BA #x (B E ) 45 6 34. 62




No. 21 %F 50m BHF B A LR No. 22 B¥F 50m BHF 8 A LR
BAEE BAER

1748 &g (e 148 =B R R
1. &8 W& (F = ) 40 E3 1. Bl FA FH B ) 15 i 40. 74
2. % HE (EREB ) 35 £ 2. Bl FX (F % ) 75 5 38.09
3. BE—%£HE (B8 &/R2% ) 40 £ 3. EIF F— o )y 715 3 35.09
4. BIFMEF (5 B )y 40 1 30.34 4. HHF Xk (# B ) 75 1 29.98 K&
5. X% &7F (B & ) 40 2 31.84 5. B A (B 1% )y 15 2 33.14
6. EH EF (B B ) 40 £ 6. & X7 (B 1B ) 75 £E
1. %% K2 (Z E/BHE$B) 3B 3 34.07 1. 5 E7 (#ZN )y 15 4 36.76
8. TH FE G #28 ) 35 4 41.92 8. MH A (= = )y 75 6 39. 84
184%8 &EIE R R 2% &g B Rl
1. @A mE (& H/E~ES) 30 3 31.68 1. ( )

2. @A EE (B = ) 35 6 33.55 2. 1A & (B 1% )y 70 4 38.22
3. T MEE (B E ) 35 £ 3. B ®B&% (=N )y 70 5 39. 89
4. JEw  Fm (F % ) 35 2 28. 68 4. lUAR fgE (L B )y 70 3 36. 64
5. RBJINEA (F % ) 35 1 28.28 5. 8% L% (B 17 ) 70 1 33.82
6. ¥k BF (B & ) 30 OP 31.85 6. \#E HMR— (FnEFrLL )y 70 2 35.79
1. B8 % (=) ) 35 4 32.37 1. WA =E (B & ) 70 OP 38.34
8. MEZRME (X H/B& ) 30 5 32.52 8. ( )

19#f b= ] B R 348 b= ] B R
1. REBEND (B & ) 30 8 31.59 1. AL Bh== (A W y 10 7 33.20
2. RIEBEFEW (B & ) 30 7 30. 68 2. KT #N (B & ) 70 8 34.17
3. R¥E X (B & ) 30 5 29.50 3. Bl E— (F0FrL )y 70 4 31.57
4. FiE B (#Z=) ) 30 1 27.93 4. RiE Mk (K B ) 70 1 29.03
5. iR Z5 (B8 K ) 30 2 28. 48 5. L% (&7 (5 B ) 70 3 30. 27
6. HEIL S (At ) 30 4 29. 46 6. jthE F1E (#wE=N y 70 2 30. 20
1. BRWET (5 B ) 30 6 30.17 1. BF% EZE (B E )y 70 5 32.29
8. 28 ETF (F % ) 30 3 29. 42 8. #ik & (B E ) 70 6 32.34
20%# &g B R 448 &g B R
1. ®iR W= (B H ) 30 6 34.05 1. ( )

2. tHEAMRES (g =B ) 25 5 31.87 2. BNl ®z (5 B ) 65 4 36. 44
3. IMNE BE (B8 K/&KRo4) 25 1 30. 46 3. BA &% (& B ) 65 3 36. 27
4. BARERE (B = ) 25 2 30. 91 4. RIFT EA (A W ) 65 1 33.82
5. FH ¥1t (B & ) 25 3 31.12 5. ¥ B— (#EN ) 65 2 34.50
6. BIE BE (dtiE:E ) 25 4 31.33 6. RAIIBE (B E ) 65 OP 41.06
1. = =8 (#Z) ) 25 OP 33.40 7. ( )

8. FH FHFXK (& w/B® ) 25 17 35.25 8. ( )

2148 &IE B el 5%8 &I B
1. gt R (B # ) 25 7 30.18 1. MK BT (B s/mEWE@E ) 65 1 30. 49
2. B INR (=) ) 25 5 29. 97 2. 2@ EBEE (B 12 ) 65 4 33.45
3. B i (=N ) 25 3 29. 31 3. FEMA  Fif (F % ) 65 5 33.93
4. f=H i) (B & ) 25 1 27.03 4. bl —BA (B E ) 65 2 31.20
5 Il HE & E ) 25 2 27.05 5. A EE (dtiEE ) 65 3 33.18
6. XE & (B = ) 25 8 30. 24 6. A& {E— (B E ) 65 £
7. EA ER (B & ) 25 6 30. 05 1. BE EX (B E ) 65 OP 34. 91
8. mEF BN (" # ) 25 4 29.78 8. B BAsL (B 1% ) 65 6 35.14




No. 22 BF 50m H@EF 8 A LR
BAEE

6 %8 &EIE B R
1. K& 8 (B E ) 65 0P 31.51
2. 5% Bh=E (=) ) 65 3 29. 86
3. ®miJil FOE (B & ) 65 5 30. 32
4. 2k ® (B m ) 65 4 30.00
5. 8K #HF— (F = ) 65 1 29.63
6. ¥H FzZ (B m ) 65 6 31.38
1. &K IEif (M W ) 65 2 29. 81
8. Al IERE (& =0 ) 65 i 31.87
7 %8 & B R R
1. &8 m®= (B &E ) 60 EiE
2. FEE HFsh 3EF = ) 60 5 36. 01
3. BhFr A (B 1B ) 60 2 34.43
4. EFE HH (B E ) 60 EiE
5. Hiff =th F N ) 60 1 33.36
6. ARK = (8% & ) 60 3 34. 66
1. F& R (=) ) 60 4 35. 84
8. JEMEEA (B W ) 60 0P 40.78
8i#f &g R Al
1. A 0 (F W ) 60 6 32.24
2. IR $iE (B & ) 60 5 31.86
3. AF EL B N ) 60 3 31. 31
4. HE AFR (= &b ) 60 4 31.57
5. A0 W= (B & ) 60 EiE
6. 5@ #x (B &E ) 60 1 29.72
1. 8 =X (& B ) 60 2 31.09
8 ED FE (dtiE&E ) 60 1 33.10
eF | &IE B R
1. RE #t (2 m ) 60 6 30. 76
2. B EH #H = ) 60 EiE
3. hif &z (= 4B ) 60 2 28.63
4. BNl EFX #H = ) 60 EiE
5. R % (I B ) 60 1 27.66 X&£#H
6. JI| EF—ER (B W ) 60 3 29.07
7. Bl E1{E (I B ) 60 4 29.74
8. HIEH RIS (8 # ) 60 5 30. 42
1048 &g B
1. ( )

2. IpFR BhEE (& E ) 5b 1 33.23
3. @A BE— (B & ) 55 2 33.53
4. FKRK IEM (B8 & ) 55 3 33. 71
5. BiI EA (K B ) 55 4 33.73
6. IUA w5k (B & ) 55 0P 34.95
1. &%k H— (B & ) 55 0P 35.30
8. ( )
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No. 22 B¥F 50m B/ B A LR
BEAFER
16#8 &g i3]
1. INR R (B 1B ) 50 4 28. 80
2. FEE—F (B & ) 50 0P 28. 96
3. @ =i (= 4B ) 50 6 30. 31
4. =7 WwE (& & ) 50 2 27.74
5. k& BRI (F = ) 50 1 26. 88
6. BHE—H (B & ) 50 £
1. Efr EA (B %0 ) 50 3 28. 42
8. BH Ez & E ) 50 5 29.23
174 & B B
1. A+EEB= (B & ) 50 £
2. Bl 1EX (B2 K ) 50 4 26. 37
3. HE HX (=N ) 50 OP 28.15
4. B BE (#=) ) 50 3 25.93
5 \KhEH (B = ) 50 1 25.51
6. ;i IEHE (#=) ) 50 2 25.63
1. 8I1I % (E = ) 50 £
8. Al WEE (K B ) 50 5 26. 68
18#f b= ] R Al
1. J\B —58 (8% @ ) 45 8 33.97
2. A BE (B & ) 45 6 32.33
3. KA HH (K #/KRHmm) 50 2 30. 09
4. £h BA (& w/B& ) 5 1 29. 46
5. %aE HHR (B2 K ) 45 3 30.73
6. ¥ K& (m # ) 45 7 33.11
1. Bk 5B (X W/EHHES) 50 5 31.25
8. ik RF &F N ) 45 4 31.24
19# &I B R
1. @A EA (5 B ) 45 0P 28. 49
2. B = (& w/B& ) 4 3 27.32
3. HE HS: (B & ) 4 b 27.37
4. WuE #= (' # ) 45 1 26. 54
5. #E &= (5 B ) 45 2 26. 64
6. EmM =% (K B ) 45 4 27.35
1. R H— (B %0 ) 45 0P 27.91
8. TEH =Rt (& & ) 45 OP 30.12
2 0% & B B el
1. XB F¥F (E & ) 45 5 25.97
2. rp KF (B & ) 45 6 26.16
3. EH = (B & ) 45 2 25.38
4. BEE (& %0 ) 45 1 25.37
5. BH #BA (F % ) 45 4 25. 61
6. N Fx (B & ) 45 3 25. 40
1. K& EA (B ) 45 8 26.77
8. R F—Hp (& ) 45 7 26. 61
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No. 22 BF 50m B/ B A LR
BAEE
2 6% &g i3] 2 9% &g i3]
1. &% K (& #n ) 30 8 25.88 1. @A Ed (= # ) 25 5 25.79
2. HiF Gl (B ) 30 5 25.25 2. &5 BE (B ™M ) 25 6 26.04
3. K EHE (B & ) 30 2 24.40 3. %k wB (I B ) 25 3 25.48
4. EBHR IEER (=N ) 30 1 23.92 4. ¥EEE EBm (8 =& y 25 4 25.75
5. KB &#& (HZ)I ) 30 3 24. 71 5. INF BN @ = ) 25 1 25.39
6. NiE H— (B 1% ) 30 4 25.12 6. EH BE (dbiEE ) 25 2 25.44
1. KB B 3 = ) 30 6 25.37 1. K8 {a# (B E/MHvTYy ) 25 8 26.51
8. =L A (F % ) 30 i 25.43 8. i X (B 0 ) 25 7 26. 36
274%# & B =i 304 b= ] B
1. hE HE (B 0 ) 30 6 27.92 1. BE #Lmn (B 1B ) 25 5 25. 47
2. BRHF IR g =B ) 25 5 27.02 2. K 1 (HZ=)Il ) 25 2 24.70
3. KiE &3 (& w/B& ) 30 3 26. 21 3. dtiE FE (B &E ) 25 3 25.20
4. BER EAN (dtimE ) 30 1 24.95 4. @ [E— (I B ) 25 1 23.79
5. A B (& & ) 30 2 25.16 5. B Mx (5 B ) 25 £E
6. tbE & (b 428 ) 30 4 26. 38 6. £FH BB (B 1B ) 25 4 25. 30
1. B &A x H/BE ) 30 1 28.09 1. BRE E (B 17 ) 25 OP 26.79
8. ¥ BX (B 0 ) 30 8 28.33 8. FiJx BX B ) 25 0P 26.16
2 848 b= ] iS5 3148 EIE B
1. #IU £ (dtisE ) 25 2 28.25 1. EW BN (X W/BE ) 26 4 24. 49
2. ZEEKXE (5 B ) 25 OP 28.15 2. Wi )1 (= # )y 25 7 25.70
3. HFf 24 (I B ) 25 0P 26.88 3. K8 W= (& = ) 25 1 23.84
4. K Mt (B = ) 25 1 26. 23 4. mIl K (& H/BE ) 25 £
5. Bk Kith (B = ) 25 OP 28. 64 5. N HE (K &o/ik#ts ) 26 2 23. 91
6. X F (B = ) 25 OP 27.63 6. % KAt (5 B ) 25 3 23.93
7. UK HS (& & ) 25 0P 28.20 1. B8 —iE B ) 25 5 25.31
8. Hh F=FE (E =® ) 25 0P 30. 35 8. N HE (F % ) 25 6 25.39
No. 23 ZF 4x50m A KL—1L— B A LR
) L—iEB

148 E—ikE &g =]
1. B E 280i% (T EE -BEEH EF -ER EBF - RBERKF ) —fi% 55.48 5 3:27.98
2. =) 280i% C(NHREBEF - ERAsSE - HBEERK b HE ) —Hg 44.90 2 2:53.27 K€%
3.3 & 280% ( . . . ) —ig EE
4. ¥ =E 280i% (BHExEETF CEEEILIF - RERWF s EAREHE ) —Hg 43.99 1 2:48.91 X
5. 5 B 280i% (BAZERF - BREMF s TRIEIF - BHILEEE ) —fg 46.57 3 2:57.72
6. & IE 240i% (KIFE#EF ‘=t =R - BEA WMF FEROFR ) —Hg 44 42 0P 3:00.67
. & N 2405 (B8 FE=EF - H oF -iEE B -HBH MHF ) —fg 48. 01 4 3:07.86
8. ( . . . )

248 F—ikE & IE R
1.8 £ 240i% (h# FF -BH Ex -tk OIEF - 2 = ) —Hg 44.01 7 2:51.13
2.5 B 2405 (MA@ 3IF -HEL BT -fEE HA -EE HBHxX ) —fg 37.51 5 2:38.26
3. | 240i% GBR ¥ - R XE& - LEBRAE LIEAEF ) —Hg 36.12 1 2:23.70 X=$
4 & &E 2405 (MRIMEF -8 Ex - FROBF -AE EX ) —fg 40.09 4 2:36.05
b, ® = 240i% (KBEHF - ERERET - EE W - HPEFRE ) —Hg 40. 36 2 2:32.93
6. & 1If 2405 (BB BF - MAREBEF cRENLNEF -REBHELBY ) —f& 42.89 3  2:36.01
7. B W 240i% (42 EF B3 fiF - IURELF -He JEF ) —Hg 40. 95 8 2:52.27
8. & J 2405% (X ZF - FHR OHF - iRE RF -Hl BAE ) —fg 42.86 6 2:50.87




No. 23 %F 4x50m * KL—YL— B4 LRE

) L—3&H
34 E—ikE &g B RS
1. B 1E 2008 (B8 BRLLF - BN BE -HEHEF -FH £ ) —# 38. 71 6 2:32.36
2. F ¥ 200%% (FM =F g =R S BBF ‘s ¥ ) —fB 39.15 4 2:23.22
3 B & 2005 (BERFEF IS MK A EF - KI BEE ) —hg 39. 91 8 2:35.35
4. 5 B 200%% (AilE  F0iT A FE KK HL -2l E=M ) —hg 35.73 2 2:17.37
5. #w=l 2008 (KREHY - S pE - HEAEATF - EF OWE ) —#8 37.38 1 2:15.31
6. & i 2008% (FFA FEft N - MR 8% AR BE ) —f8 36. 89 3 2:22.37
7. @ W 2008 GtE ¥ - EK HE - KEBHiLF cHiE BR) —fg 41.13 7 2:33.89
8. ® X 200/% (HE &= -RE #F - EH BT CEHHCH ) —iE 37.94 5 2:29.32
448 —ik&E &8 =3
2.8 2008% GhiBEs =157 -EAE BT SEE OER ) —f8 45. 64 4 2:40.79
3. B E 200% (@ EF - RAREF - EiE BER -=iE A ) —hg 45.02 3 2:39.82
4. JtiBE 200 (A& Fk -EBE OEE - Bl B®E -EH BHE ) —f8 38. 26 5 2:41.92
5 & B 160 (BER fiF - EHE EXR - RE & - BEHEHBHRE ) —hg 36.63 2 2:26.37
6. & 1604 (FE % -3 -EH OB -hhfE 2R ) —f3 36. 44 1 2:25.75
8. ( )
548 —ik&E &g =]
1. 8 18 160k (ARE/mF B - HEE kW -FHE OBt ) —# 36. 37 6 2:22.85
2. " B 160 (Bf SF - EBE - BHALD -y B&%E ) —i% 35. 64 3 2:14.65
3. ZEI| 1605 (2A E=E - Fih = CER OER - RiE BF ) —hg 34.50 1 2:06.43 X&£%H
4. K » 1605 (FE BE = ET -RALEERF - EBEAaPE ) —iB 36. 71 7 2:26.63
5. % E 160%% (E#E %= ‘B ® E2#b & CEIOEE ) _ﬂx 33.78 2 2:09.68
6. & 41 1605 (B HF - RTFFiEf - & o Ba=zE ) —#8 33.05 4  2:15.97
1. B B 1605% (RFE - BIRERTF -MEFED s ¥ ) —#% 32.59 5 2:18.16
8. 5 & 1603 kM =i - B IMEF - BE sE & ) —# 41.31 8 2:34.08
6 #8 —ik&E b=} =i
1.1 A 160 (st B+ -BER XF AR EF -BH Bx ) —fi% 39.58 5 2:36.38
2. F ¥ 160 (WX HF IV OEF -thEanY - OWmF ) —fB 36.00 4 2:29.55
3. B = 1608% ( . . - ) —fg £
4. 8 B 160k (M F=iEF “EBACC 5 - HARES -HNEAFEFE ) —f8 39. 94 3 2:25.17
5 B & 1205 (2@ B ShE O EE B ET 8 BF ) —#g 31.38 1 2:08.49
6. & 4 1205% ( . . . ) —g EiE
1. B = 1206 (KB = - MR ER - EBHE Em - KB OBHE ) —i% 33.08 2 2:18.62
8. 4 18 1205 (HO 8|XK -+ E=E - HHE B ST ORHE ) —#8 36. 36 6 2:40.48
7% —ik&E EIE =]
1.5 B 1208% (RE % - BRHETF - EAR B “KE 2 ) —f8 33. 40 3 2:09.53
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